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ALLEN

SUBJECT : PHYSICS

Topic : Full Syllabus

L

SECTION - A
Attempt All 35 questions

1.

4

IfK= d_‘)‘( find dimensional formula of K :-
t

(1) [LT] 2) LT
(3) [LT] 4) [LT]

A body covers 26, 28, 30, 32 metres in 10",
11", 12™ and 13™ seconds respectively. The
body starts :-

(1) From rest and moves with uniform velocity
(2) From rest and moves with uniform acceleration

(3) With an initial velocity and moves with

uniform acceleration

(4) With an initial velocity and moves with

uniform velocity
Rain drops are falling vertically downwards

along —y direction. A man is moving with a
speed of 10 km/hr horizontally along —+x
direction. We feels that rain drops are hitting him
at an angle of 30° from vertical then calculate

speed of rain drop with respect to man :-
(1) —10i + 10/3]

) 10i — 104/3]

(3) 10i + 104/3]

4) —101 —10+/3)

(

Qs - A
aeft 35 wr rfaar §

1.

af = X g 3 o ot e o -

(1) [LT] (2) [L'T]
(3) [LT] (4) [LT]

e iRl a€q 109, 119, 128 7 139 dhe &
HHNT: 26, 28, 30 & 32 Wi st gft 7 et € ot
& T :-

(1) TSR ST [ 2T o foeret €
(2) STTER ST X[ AT T {1 BT

(3) SR T SR qT @ror =i g

(4) ST ST ST qT 3 R B

arfest it 2 Ieatew (—y famm) A= fr @ R
U A 10 km/hr =7 & &fdst # +x faom
# AT T @ T A urar § f e i
Ei;é 3‘%‘?3'{ 15( 30° ShI9T 9T 39YH AThT ¢°h{|dnl
g @ st & wroe arfew A & foAra
a & :-

(1) —10i + 104/3]
) 10i — 10y/3)
(3) 10i + 104/3]

4) —101 — 10/3j
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ALLEN
4.

A horizontal force of 10 N is necessary to just
hold a block stationary against a wall. The
coefficient of friction between the block and
the wall is 0.2. The weight of the block is :-

(1) 10N (2) 1IN

(3) 2N (4) 20N

A string of length 10 cm breaks if its tension
exceeds 10 newton. A stone of mass 250 g tied
to this string, is rotated in a horizontal circle.
The maximum angular velocity of rotation can

be :-
(1) 20 rad/s (2) 40 rad/s
(3) 100 rad/s (4) 200 rad/s

A ball is dropped from a height h on a floor of
coefficient of restitution e. The total distance

covered by ball before second hit is :-
(1) h(1-2¢

(2) h(1+2¢%

(3) h(l +¢?

(4) he?

A solid sphere starts rolling. down on an
inclined plane of inclination 6. The speed of its

centre when it has covered a distance ¢ :-

(1) 4/2glsin® () ,/%gﬁsine

3) \/1—70g{%sine 4) \/ITSgEsine

ot % SFTER 10 N % &fes a1 SATawesha
st @1 form 7 T & o &) afe =dor TR
0.2 8, T scATeh T AL FAT S :-

(1) 10N 2) IN
3) 2N (4) 20N
T S | AR FAE 10 =T & AT 8 S Al
FE S 22 Sl 81 250 UTH FAHH T T Teal
10 cm Tt 36 SRT & STeht TS It 9o §
IR ST & HUM 1 SARBAH 0T AT

T 2 -
(1) 20 rad/s (2) 40 rad/s
(3) 100 rad/s (4) 200 rad/s

Tk 7 &l h a5 8 frdt gag w foreem
TATEE UM e 2, TR Sirdm 21 qudl <o o
e 118 g o 2T TS oA g enlt

(1) h(1 -2¢?)
(2) h(l +2¢&%
(3) h(l+¢e?)
(4) he?

T 319 T 9 hivl T AW T IO hEAT
TP AT € (g T A W 36 heR hl AT

/5 .
(2) 7gEsm9

(1) 4/2gtsin®

3) \/ggﬁ sin 0 4) \/175g{i sin 0
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10.

11.

ALLEN
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A constant torque of 31.4 N-m is exerted on a 8. 31.4 N-m <l Ush e El?f-i‘}il'l“ilgf Th EAGIET
pivoted wheel. If angular acceleration of wheel (pivoted) ufed W o Srar 2 afg ufed @
is 4z rad/sec?, then the moment of inertia of the FHIVT T 4n TSIT/A? B, ao GeT T SScd-
wheel is :- Wﬂﬁ% -
(1) 2.5 kg-m? (1) 2.5 kg-m?
(2) 3.5 kg-m’ (2) 3.5 kg-m?
(3) 4.5 kg-m? (3) 4.5 kg-m?
(4) 5.5 kg-m’ (4) 5.5 kg-m>
If gravitational potential in a region is given by 9. gfe foret & o W’J o adfieor v = 4x2 @
V = 4x? then gravitational field is. SRIA fohaT STTaT 21 et &1 26T dfterr 2t -
(1) 8x along +ve x-axis (1) 8x +ve x-axis sl fam &
(2) 8x along —ve x-axis (2) 8x —ve x-axis sl feem o
(3) 4x along +ve x-axis (3) 4x +ve x-axis I fazm q
(4) 4x along —ve x-axis (4) 4x —ve x-axis i g3 1
A small body of mass m falls to the earth from 10, m FsTATT it TH Bl JEG AT ?{\ﬁ
infinite distance away. What will be its velocity g EI%ﬁ gy fizdft 2l E%ﬁ RES qga% ERS
on reaching the earth? (Radius of the earth =R, SHH ST FAT B2 Er%ﬁ # BFAsa = R
acceleration due to gravity on the surface of the qem tigaﬁ @ wadE Ul gb‘?aﬁa cdI g
earth is g) :- T
(I) gR (2) 2¢gR (1) gR (2) 2¢gR
(3) yeR (4) /28R (3) eR (4) /2R
A Metal block is experiencing an atmospheric 11. &g % T saieh W 10° N/m?® &1 €& T T 2
pressure of 10° N/m*. When the same block is Ifg 39 sclteh ! fHald el o W@ foar S ar
placed in a vaccum chamber, the fractional A § SAiT31eR afterd gem
change in its volume : (the bulk modulus of (4T 3T ST FeATET ‘;FUTTEF 1.25%10" N/m?
metal is 1.25 x 10" N/m?) )
(1) 4x1077 (1) 4x107
(2) 2x107 (2) 2x1077
(3) 8x107 (3) 8x107
(4) 1x107 4) 1x107
1001CMD302122005
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12.

13.

14.

ALLEN
12.

A capillary tube is taken from the earth to the
surface of moon. The rise of the liquid column
on moon, if acceleration due to gravity on earth

is six times that on moon is:-

(1) Six times that on the earth's surface
(2) 1/6 that on the earth's surface

(3) Equal to that on the earth's surface
(4) Zero

A new scale of temperature (which is linear)
called the W scale, the freezing and boiling
are 39°W and 239°W

respectively. What will be the temperature on

points of water
the new scale, corresponding to a temperature
0f 39°C on the Celsius scale ?

(1) 200° W
2) 139°W
(3) 78°W
4) 117°W

A Cylinder of radius R made of material of
thermal conductivity K, is surrounded by a
cylindrical shell of inner radius R and outer
radius 3R made of a material of thermal
conductivity K,. The two ends of combined
system are maintained at two different temp
there is no loss of heat across cylindrical
surface and system is in steady state calculate

effective thermal conductivity of system :-

13.

14.

U T AR T g § TEHT T EE WA
STRIT ST &) A% geaft 9X eI Ter, =I5t §
6 TAT &, AT FRMTCTeRT & =g aTel 59 o TPy ol
?’11-_®|'|'§ -

(1) geaft = Tree = et H 6 T &t

(2) et Y s Y AT 1/6 BRI

(3) et T g W e aTct 59 o THHE & /it
(4) TAER

qrg HT T AT ST LT B, S W THEA
F arg fear war ?) 3@ YWY 9T IA H
fedis® T FagAIF FATAT 39°W HIT
239°W @ &9 dfewmaw Jmd uT 4y
39°C R, A ¥ UHIA 9T Q19 T AT

EﬁTﬂ:-
(1) 200°W

@) 139°W
(3) 78°W
@) 117°W

ISar R 1 TH dAT SSHT wrAFdr
K, & 9ard & 991 g 39% a4 T THh
SAAHIT B 7 radr smeafis fsar R
g arg Bsa 3R B FT SHT =rA®ar
K, % 9314 & o1 8| §I® HFT &
far @ =7 @9 9T | JF@AET Uy ¥
s Hear wfl Id 21 Fwra ey
qEAEEAT H B A HwT A ged FeA
arA®ar i T HIWT -

K; +3K K;+3K
. (2) K, +K, 2 2) K, +K,
4 4
K+ 8K 8K | +K K+ 8K 8K | +K
(3) 2 (4) 2 (3) 2 (4) 2
9 9 9 9
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15.

16.

17.

18.

ALLEN
15.

The volume of an ideal gas is V at pressure P
and temperature T . The mass of each molecule
of the gas in m. The density of gas will be :-

(K is Boltzmann's constant)
(1) mKT (2) Pm/KT
(3) P/KTV (4) P/KT

1.4) is

compressed so that its

One mole of an ideal gas (y =
adiabatically
temperature rises from 27°C to 35°C. The
change in the internal energy of the gas is
(given R = 8.3 J/mole/K)

(1) -1661J (2) 1661

(3) -1681J (4) 16817

A gas undergoes a cyclic process ABCDA as
shown in the figure. The part ABC of process

is semicircular. The work done by the gas is :-

$ 50p =
“g 30f- Qc
S Al D i
= i i
0= 20 60
V(m?) —»
(1) 400 J (2) 24567
(3) 200 nJ (4) 18267

The amplitude of a SHM reduces to 1/3 in first

20 second then in first 40 second its amplitude

becomes:
1 1
M 3 @ 3
1 o L
®) 35 @ —

16.

17.

18.

I P qAT TWHA T W fhet T1est 19 &
gidesl 1 ARG V € | T % Tedw A
S m 7 IR dleewH Fadis K g awiar
ST & T 11 7 oeal @ -

(I) mKT (2) Pm/KT

(3) P/KTV (4) P/KT

Teh O e T (v = 1.4) & T fafy &
Foifed S T 3HHT 919 27°C & dght 35°C &
ST R 7 sht rfafies et | afteds fhaar -
@ R = 8.3 J/mole/K)

(1) ~1667 (2) 1661
(3) 1681 (4) 1687
T 119 o § a911Y STTER =s61a TFH ABCDA
I T HIAT | T HT HOT ABC HEGIAHR 2

T ok g foram T 6 2-
A
§ 501 =
g 30 Q IC
~ AI 1
= i D
= i i
0~ 20 60
V(m?) —»
(1) 400 nJ (2) 24567
(3) 200 ) (4) 182617

T ST Tfel oL T ST hT STTATH T 20 Tehve
T gt Tk foere &1 SIar @ o 95U 40 ke |
THHT AT BT

Neol

1
M 3 @

1 1
G 5= @
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19.

20.

21.

22.

ALLEN
19.

A string of length 0.4 m and mass 107 kg is
tightly clamped at its ends. The tension in the
string is 1.6 N. Identical wave pulses are
produced at one end at equal intervals of time
At. The max. value of At which allows

constructive interference between successive

pulse is
(1) 0.05 sec (2) 0.10 sec
(3) 0.20 sec (4) 0.40 sec

The stationary wave y = 2a sin kx coswt in a
stretched string is the result of superposition
of y, = a sin(kx — ot) and :-

(1) y,=acos(kx + ot)

(2) y,=asin(kx + ot)

(3) y,=acos(kx — ot)

(4) y,=asin(kx — ot)

Charges Q, and Q, lies inside and outside
respectively of a closed surface S. Let E be the

field at any point on S and ¢ be the flux of E
over S. Which statement is wrong ?

(1) If Q, changes, both E and ¢ will change

(2) If Q, changes, E will change but ¢ will not
change

3) IfQ,=0and Q,#0then E£0 but o =0
(4) IfQ,#0and Q,=0thenE=0but ¢ #0

Two identical metal balls with charges +2Q
and —Q are separated by some distance, and
exert a force F on each other. They are joined
by a conducting wire, which is then removed.

The force between them will now be :-

20.

21.

22.

0.4 o TS qer 1072 foRur geam areft Th
o 39 U W wERt ofeft B S ¥ ae
1.6 N 2] Tsh f0 o 90 90am=aid At 9T
O qT ged 3cqT Bl 8l At HT I8
AfIFad AT ST HHE Yol & s gEISt

SR T LA FLaT 8

(1) 0.05 aFvs (2) 0.10 GFvs
(3) 0.20 FvE (4) 0.40 FvE
foret T 8% SR STt

y = 2a sin kx cosot, y; = a sin(kx — ot) d9IT

S STEATAIT kT IO ] 2

(1) y,=acos(kx + ot)

(2) y,=asin(kx + ot)

(3) vy, =acos(kx — ot)

4) y,=asin(kx — ot)

Ueh 78 g8 S o 3TaL AT gL HAM: AT
Q, AU Q, Rrq & @ S fopElt fareg Wy
&7 E 8 q97 S T GAFH ¢ g HITET FHAT
TAd § 2

(1) IfE Q, SIeTdT &, E AT ¢ ST saeiit

(2) afe Q, S_@dT &, E & W ¢ Tl
EEiull

(3) AR Q,=0TqAMQ,#0TIE£ 0T ¢=0
(4) ARQ#0TAMQ,=0TTE =0T ¢ #0
q gA@W arq WA gL AAY +2Q qAAT
~Q ®| 39% WeF 9@ F B A Al
TH AT G SSHT qA1 T @ & g

fear srar 2, dr W& % "Hemw Ad @
ST ;-

() F Q) F2 ) F4 (4 FB () F (2 F2 (3) FA (4 FB
| SAMPLE PAPER # 05 1001CMD302122005 |
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ALLEN

23. The effective capacitance between the points P

and Q of the arrangement shown in the figure is

2uF
1
2uF 1uF
re—H {0
2uF SHFII |
I |
2uF 1puF
1
(1) () 1uF
(3) 2uF (4) 1.33yF

24. In the network shown in the adjoining figure,
each resistance is 1 ohm. The effective

resistance between A and B is :-

A B
(1) (4/3)Q 2) (3/2)Q
(3) 7Q 4 8/7)Q

25.  Abattery of emf E,= 12V is connected across a 4m
long uniform wire having resistance 4Q/m. Two
cell of small EMFs § = 2V and &, = 4V _having

internal resistance 2Q and 6Q respectively are
connected as shown in the figure. If galvanometer
shows no deflection at the point N, the distance of

23, fomr o wefiia e o fordl formgadl P &1 Q o it
TTET T & -

ZHF
. 2uF 1uF
pe—| | l Q
2uF SMFII |
2uF I
(1) 2) 14F
(3) 2uF (4) 1.33pF
24. fu # fewry w3y Siaw d ycIF gfauy
1 A & B a9 A 3T B & ofiw
guged afalg ® .-
A B
(1) (“4R)Q () 32)Q
3) 7Q 4) 8/7)Q

25. U ot foreht fa.ames s/t B, = 12V @ & 4m &
Teh G IR fS&ehT Tfaier 4Q/m 4 Sver T3 81 &1
e &, = 2V qQAT &, = 4V et SAiafes afater
20 TAT 6Q B H FeETIER SteT W R Ak
Tea e 1 fagq s e dl fag Nl forg A 9
e -

point N from the point A is equal to :- | E, R@f‘g
IEO Rﬁﬁ(!
| ' vy
A N B
A N B &.n I
&.u I, é
————
& T
a 4 2 2
5 2 L2 4 5 4
) = 2) — el -
(1) 3m @ zm (1) 2m @ 3m
(3) %m (4) None of these (3) %m (4) ST Y IS TR
| SAMPLE PAPER # 05 1001CMD302122005 |
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26.

27.

28.

29.

30.

ALLEN

The resistance of a moving coil galvanometer

is 20Q. It requires 0.01A current for full scale
deflection. Calculate the value of resistance
required to convert it into a voltmeter of range
20 volt :-

(1) 19800 (2) 2000Q 3) 1880Q (4) 1500Q

The magnetic field at the centre of coil of n
turns, bent in the form of a square of side 2 ¢,

carrying current i, is :-

) V2uoni 2 V2uoni
7l 2nt

(3) ﬁuoni (4) 2].101’1i
4l nl

The acceleration of an ¢~ at a certain moment in
a magnetic field B =2{ +3j +4k is
a=xi4) — k. The value of x is :-

(1) 0.5 (21 3) 25 @& 15

A dip circle shows an apparent dip of 45° at a
place where the true dip is 30°. If the dip circle
is rotated through 90°, what apparent dip will it

show:
(1) cot™'(v/2) (2) cot™'(2)
(3) tan~'(y2) (4) -45°

A conducting wheel in which there are four rods of
lengthe ¢ as shown in figure is rotating with angular
velocity ® in a uniform magnetic field B. The induced

potential difference between its centre and rim will be :

26.

27.

28.

29.

30.

T I FUSA HeaIHIET T Tirg 20 HH
g Ffe quf Tehe faey & faQ smavas g
0.01 A 21 SH®I 20 diee 9UH & diee Hel §
T & T Aravgss fay o 71T A o
FfY -

(1) 1980Q(2) 20000 (3) 1880Q (4) 1500 Q

n B T 2¢ 9T ATl Th BN FUSAT H
YT JATfed i T 38 b T 3T rehid
FTR -

) v2uoni 2 v2uoni
nl 2nt
v/ 2poni 2uoni
3) XY *"1 4
@ 4nl ) wl

T ¢ 1 Th IR & B = 21 +3) + 4k &
foret ST QL U d = xi + ] — k & q x HT A
2 -

M o5 1 ()25 @15

U i fohefl T o STt Jfd wior 450
ST ], F&T ardfarsh i v 30° 21 IS i I

1 90° | FHMT ST &, AT I TeheT AT AfT
10T J&FAT T :-

(1) cot™'(v2)
(3) tan '(v/2) (4) —45°
T AT Al § ¢ TaTg ol =R B feremem g,

SIT U GHET IFIAIT & B H o iU 9T § o
T 21 IR o g o wem YR forver=ae ot 7

(2) cot~'(2)

X X X X X X X X X X
x x[} X XA X X XX x XA X
AN 7 AN
X X\ X X X X\ X "ﬁ) X
X x\\( J X X X\\&_K X X
(1) 2Bot* 2) VBPa@) B2 @) Blo (1) 2Bot* @) VBPa@3) B0 @) Blo
[ SAMPLE PAPER # 05 1001CMD302122005
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ALLEN

31. The impedance of the RL circuit given in the 31. gIY T RL uitqy faa & giqamen & qra-y
adjacent figure is expressed by the relation Z*? = Z? = A + B? g0 59k foham STam 8, @ AB
A? + B Then the dimensions of AB are t fomm gt .-
R R
L L
(1) [M'L’AT7] (1) [M'L’2AT7]
(2) [MZL'T°A™] (2) [MZL'T°A™]
(3) [M'L'A”T] (3) [IM'L'A”T]
(4) [M'LPAPTHY (4) [M'LPAPT Y
32. Aresitance 'R' draws power 'P' when connected 32. feHt AC (THl) I ¥ SIe | T IRY 'R’
to an AC source. If an capacitance is now T 'P' 1Tk ol STt 21 Afe 38 gferier = 2oft vy
placed in series with the resistance, such that o, U G e & ufey i afqerear 'z' &
the impedance of the circuit becomes 'Z', the STt 7, o1 off 78 wifeh &t st
power drawn will be:
R R R R
1 — 2) P| = 1 4 2) P|=
(1) Py/ - @) <Z> (1) Py~ @) (Z)
2 2
R R
3) P 4) P| — 3) P 4) pl=
3) 4) ( > ) 3) ) ( > )
33.  The nature of electromagnetic wave is :- 33. W—WW@E@T&T% -
(1) longitudinal (1) srfeed
(2) longitudinal stationary 2) 31@%?2? STTHY
(3) transverse (3) T
(4) transverse stationary (4) AT YT
34. If the focal length of objective and eye lens 34. 3?&1‘3"\7?3%" 3T T A= A BwHA E\;ﬁ?ﬁ ShHT:
are 1.2 cm and 3 cm respectively and the object 1.2 gt AT 3 o aEg Eal 311(‘34"3'?'5[35 g
is put 1.25 cm away from the objective lens 1.25 9"t uT @ wan on srfam wfafars
and the final image is formed at infinity. The FTd YT g9ar §, Q&Wﬁ # e
magnifying power of the microscope is : Har g
(1) 150 (2) 200 (3) 250 (4) 400 (1) 150 (2) 200 (3) 250 (4) 400
| SAMPLE PAPER # 05 1001CMD302122005 |
Page 10/52 Space for Rough Work / Yt cav ks fore snTE E+H



ALLEN

35. The image for the converging beam after

refraction through the curved surface is formed

at :-
(1) 40 cm (2) 30 cm
(3) 20 cm (4) 10cm
( SECTION - B )

This section will have 15 questions. Candidate

can choose to attempt any 10 question out of

these 15 questions. In case if candidate attempts

more than 10 questions, first 10 attempted
L questions will be considered for marking.

J

36. In an experiment to determine the focal length (f)
of a concave mirror by the u-v method, a student
places the object pin A on the principal axis. at a
distance x from the pole P. The student looks at
the pin and its inverted image from a distance
keeping his/her eye in line with. PA. When the
student shifts his/her eye towards left, the image
appears to the right of the object pin. Then :

() x<f
() x=2f
37. A beam of light strikes a piece of glass at an

@) f<x<2f
@) x>2f

angle of incidence of 60° and the reflected

35. Fh I8 § IAUEGH o 18 AREING 99 % g
yfdfore saT 2

(1) 40 cm (2) 30cm

(3) 20cm (4) 10 cm
( T e - B B
TGS T 15 T &l S g 15 9 § A A

Y 10 % X Gahan &l Afe gltemeff 10 & ftre wx
;rﬁlwém%?ﬁ%a%&gwmwﬁm

(N J

36. u-v fafr & uF srE@e adwr A wiFE b (1)
e 29 fo6d T ©F T A, U s 9ed
& 9 I (pole) P @xﬂ;ﬁﬂ‘@ﬁ?ﬂ@ﬁ?A
T@ar 8l B U9 qur s'es o Ifdfara i
HIX, AU TG FI PA & |19 §LRad W@d gC
F© gl ¥ 3@ g1 S B AT G i el
HR B2TaT 8, Wieforrar aq U= o 3Tl AT et
fﬁ?ﬂ%,ﬂ_@[:-

(1) x<f
3) x=2f

37. Ifd uH gHW IS KA & HS UL 60°
% ® g afad gar & dur guafdq

(2) f<x<2f
@) x>2f

beam is completely plane polarised. The EEIR E[\Uf?r: gf%ra g d &g H
refractive index of the glass is - FAUFAATE B -
MH15 @ V3 B V2 &2 M15 @ V3 3 V2 &2
| SAMPLE PAPER # 05 1001CMD302122005 |
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38.

39.

40.

41.

42.

43.

ALLEN
38.

If the ratio of amplitudes of two interfering
waves in 4 : 3, then the ratio of maximum and
minimum intensity is :—

(1) 16:18(2) 18:16(3) 49:1 (4) 9%4:1
The decay rate of sample of radioactive nuclide
I'*® after time 4 min and 36 min is 322 and 161
counts/s. Find half life for this radionuclide.

(1) 28 min(2) 32 min(3) 16 min(4) 40 min
If kinetic energy of electron is 3.045 MeV then

total energy of electron is :-

(1) 3.556 MeV (2) 2.655MeV

(3) 4.950 MeV (4) 1.565MeV

In third orbit of hydrogen atom, de Broglie wavelength
of electron is A then radius of third orbit is -
I8

3
G) 3 @) A

(1) 3% -

2) *
Which one of the following statements about
photon is incorrect :-

(1) Photon's rest mass is zero

(2) Momentum of photon is hv/c

(3) Photon's energy is hv

(4) Photons exert no pressure

In the given circuit, the current through the

zener diode is :-

39.

40.

41.

42.

43.

gfg i w3 arelt & 9O & AW H
TG 4 : 3 8, A Afehad AT AqH dsrdT i
AT T BRI -

(1) 16:18(2) 18:16(3) 49:1 (4) 94:1
foreft Yfeat wishar foreramse warel ' 1 4 min &
36 min STE & T 322 7 161 counts/s & A 30
e wfira =focrass & for stderry Arfh

(1) 28 min(2) 32 min(3) 16 min(4) 40 min
afe ToeeT # TS S 3.045 MeV ® ar
Wﬁgﬁﬁf%:-

(1) 3.556 MeV (2) 2.655MeV

(3) 4.950 MeV @) 1.565MeV

BTSSISIH TRAY] ShT TG el & Seide™ shi quTaed
A 2 A et et shi forea gt -

3 A
M3 @2 » B¢ - &

BT & o § 7wyt § 9 Hia9r 1dd
g .-

(1) IS T form oo ¥ &
(2) IEH FTEAT hv/c §

(3) BIIH A FHlt hy &

(4) HIIH IS aTT Tal T

e 73 ity § S9T TgrA@e 9 yarlka amw
2 -

Alﬂﬂ% AlAkA%
T YWy 1 YYVYY
i + :: i + ::
(1) 2mA ) 4mA (1) 2mA (2) 4mA
(3) 6mA 4) 1mA (3) 6mA 4) 1mA
| SAMPLE PAPER # 05 1001CMD302122005
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44.

45.

46.

ALLEN
44.

Two amplifiers are connected one after the
other in series. The first amplifier has a voltage
gain of 10 and second has voltage gain of 20. If
the input signal is 0.01V then output signal is :-

(1) 0.2V
2) 20V
3) 10V
4) 2V

The logic symbols shown here are logically

equivalent to :—

> =0
B @ B0 ®)

(1) (a) AND and (b) OR gate

(2) (a) NOR and (b) NAND gate
(3) (a) OR and (b) AND gate
(4) (a) NAND and (b) NOR gate

A homogeneous rod AB of length L and mass M
is pivoted at the center O in such a way that it can
rotate freely in the vertical plane. The rod is
initially in the horizontal position. An insect S of
the same mass M falls vertically with speed v on
the point C mid-way between O and B. Determine

the initial angular velocity ® in terms of v and L.

% M

. H,
Al . C |B
——L/2 —— - L/4 =1 /4 -5
4v 12v

(1) T () T
S5v 12v

(3) T 4) S

45.

46.

3 TadE TF & o918 TH AU § S 81 JuH
AT T el AT 10 qT fgdia el @
dieedT @1 20 21 Ff¢ Fasft dieear 0.01vV ® ar
ﬁ’ﬁaﬁmiﬁ"ﬂ:—

(1) 0.2V

(2) 20V

(3) 10V

4) 2V

fo # yefia ¥od qifh® &9 ¥ fhEs qod
.

A Y A—O Y
B ;3 (@) B_":)E

(1) (a) AND @S (b) OR ER
(2) (a) NOR TH (b) NAND gR

(3) (a) OR Ud (b) AND 5K
(4) (a) NAND TS (b) NOR g1

TAFSTS L 9 5AH M 31 T §76T B AB %75 O
W 38 YRR hIAThd & Tl I8 FHeATal o 4 qeh
&9 H U F Fh| TS T H Qifrst Reerfa 7 2)
U <h1ST S HHH SeHM M 1 O 9 B o 7ed forg
C W= v ¥ fRdr 81 v & L % wai § grfesrh
IV AT o FT T

M
|
O \%

Al . «C |B

——L/2 —L/4 e L/4

4v 12v
(1) T (2) R
S5v 12v
(3) oI (4) 55
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47.

48.

49.

50.

ALLEN
47.

The potential energy of a particle of mass 1 kg
in motion along the x axis is given by U = 4(1
— cos2x)J, where x is in metres. The period of
small oscillations (in sec) is :-

(1) 2n 2) =
4) V2r

A 2uC charge is moving from A to C along the

(3) /2

given path find work done by external agent :-

5V
C

10v 1202
A B

(1) 30uJ

2) 10u)

(3) -30pJ

(4) —40u)

A solenoid with an air core has length 487 cm,
area of cross section 12 ¢cm? and 1200 turns.

Self inductance of the solenoid is :-
(1) 4.6 mH

(2) 6.9 mH

(3) 1.44mH

(4) 9.2 mH

Optical path for yellow light is same if it passes
through 4 cm of glass or 6 cm of water. If the
refractive index of water 4/3, what is the

refractive index of glass :-

(H 2 ) 1.5

16
0 5 @ 2

48.

49.

50.

X-3T&T % SN (A A 1 kg FAHH o H0T h
fafo S AT ] U = 4(1 - cos2x)J, x HeT

2, T 37T S o TIT ST et (ThUE) B § -
(1) 2n ) =n
(3) w2 (4) +/2n

Tk 2uC T HAEY A ¥ C % & ™ 99 &
STFET AT 21 TR FF S FohaT T A Q@
EASEES

5V
C
10V 1202
A B
(1) 30u
(2) 10pJ
(3) =30uJ
4) 40w

U URARTHRT shi TFaTg 48 WY, ST H1E
&AhC 12 |HI2 T B 1200 BT AT GRATCTRT T
TSR BII-

(1) 4.6 mH
2) 6.9 mH
(3) 1.44 mH
(4) 9.2 mH

gfg e Yy HT F 4 cm AT IA &
6 cm ¥ WHFL TII@ T A FHH
JHIfTHE T FHT B A HA @
AYIATH FAT Q-

(1) 2

16

G 5

2) 1.5

3
@ 7
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ALLEN

SUBJECT : CHEMISTRY

Topic : Full Syllabus

L

SECTION - A
Attempt All 35 questions

S1.

52.

53.

54.

A compound contains 32% S. What is its

minimum molecular mass :-
(1) 100 2) 10
(3) 1000 (4) 500

In iron atom, how many electrons have n = 3
and €=27?

(1) 2
(3) 6

(2) 4
4) 8

Equilibrium constants K, and K, for the

following equilibrium :

1 K
NO(g)+ 5 Ox(g) ———> NOy(g) and

K
2NO,(g) —)2 2NO(g) + O4(g)

are related as :-

_ _ K
(1) Ky = (2) Ky= =+
G) K= 17 4) K, =K]

The precipitate of Ag,CrO, (Kgp = 1x10°%) is
obtained when equal volume of following are

mixed ?

(1) 10*°M Ag" +10*M CrO,>
(2) 10°MAg" +10° M CrO,>
(3) 10°MAg" +10° M CrO,*

(4) 10°MAg" +10° M CrO,>

(

g s - A
aeft 35 v rfaar §

S1.

52.

53.

54.

T AR T 32% S Bl FUhT IaH IUHR 0
I -

(1) 100 ) 10
(3) 1000 (4) 500

Fem%ﬁﬁﬁﬁﬁﬁﬁ%mn=3®£=2
FaTe ?

(1 2 (2) 4
(3) 6 4) 8
frmaferfaa aramaeeneti & forr

1 K
NO(g)* 5 0x(g) &——=2 NOy(g) T

K, '
2NO,(g) = 2NO(g) + Ox(g)
T feeieh K, 37 K, 39 JohR Aa1f~4rd -

1 K
1) K,=— ==L
(1) K= (2) K==
®) Ko=13 @) K, =K{

Ag,CrO, (Kgp = 1x107%) &1 ra&q fra
AT & GHIT ATIqA I AT 9T Iy e
T

(1) 10*MAg"+10*M CrO,*
(2) 10°MAg" +10° M CrO,>
(3) 10°MAg" +10° M CrO,>

(4) 10°MAg" +10° M CrO,>
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55.

56.

57.

58.

59.

ALLEN
55.

Consider the reaction at 300 K
15
Colls(t) T 5 Ong) = 6CO + 3H0) 5

AH=-3271kJ
What is AU for the combustion of 1.5 mole of
benzene at 27°C ?

(1) -3267.25kJ

(2) —4900.88 kJ

(3) —2450.2kJ

(4) -3274.75kJ

Among the following strongest reductant is :
(1) P,O4*" (2) H;PO,
(3) H,PO,” 4) P,0,*
What is the density of SO, gas at STP :-
(1) 2.86 g/L

(2) 3.86 g/L

(3) 1.86g/L

(4) 9.86 g/L

How many tetrahedral voids are occupied in
diamond ?
(1) 25% (2) 50%
3) 75% (4) 100%

Which of the following is not a correct match ?
(1) Butter - O/W type emulsion

(2) Vanishing cream - O/W type emulsion

(3) Milk - O/W type emulsion

(4) Cold cream - W/O type emulsion

56.

57.

58.

59.

300 K 9 & & freferfaa stfifsma st a3 <)

15
CGHG(E) + 7 Oz(g) d 6C02(g) + 3H20(E) ,

AH = -3271 kJ
27°C W 1.5 HId =19 & @& o g AU &1 94
FTR?

(1) -3267.25kJ
(2) -4900.88 kJ
(3) —2450.2kJ
(4) -3274.75KJ

= 5 & yereray STa=meh R

(1) P,Os" (2) H,PO,
(3) H,PO,” (4) P,O,*
STP 9 SO, T4 T ocd FT R :-
(1) 2.86 g/L

(2) 386 g/L

(3) 1.86 g/L

(4) 9.86 g/L

& A fored @ ® fRad wfae
Aqehershi feftra ol Bt § 2

(1) 25% (2) 50%
(3) 75% (4) 100%
frer & & oo gafera A 2 2

(1) TG - O/W YT ITId

(2) AT FH- O/W TR =
(3) 39 - O/W YR URd

(4) FIeE I - W/O THR IH
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ALLEN

60. 2A—->B+C 60. 2A—->B+C
It would be a zero order reaction when :- I8 [ ahife SATTRAT BT 51T -
(1) The rate of reaction is proportional to (1) sffsRar 1 @ A I GEar & ai &
square of concentration of A. WZIW 2l
(2) The rate of reaction remains same at any (2) AffsRar i 5t A it oft |z o foe wom
concentration of A. M
(3) The rate with change in concentration of B 3) fufshar i @ B quT C FI @t &
and C a1y giafda 2t STt 21
(4) The rate of reaction doubles if (4) AIfRar i & g Ht 2 9t € afe B i
concentration of B is increased to double. Alesdl sglehl g Y st &Y STt 21
61. Which of the following ion has maximum 61. T o @ =|r A S faeee o sifersan
conductance in aqueous solution. EIKETIEHITHI
(1) Li'ag (2) Na'q (1) Li'ag (2) Na'q
(3) Cs'ug @) Ko (3) Cs'ug @) Ky
62. A 0.001 molal solution of [Pt (NH;),Cl,] in 62. 0.001 Hi@A [Pt (NHy),Cl] & o= s«
water shows a freezing point depression of T 0.0054°C @ fedish § Fam g9iiar 21 Al S/t
0.0054°C. If K, for water is 1.80 °C/m, the o K, %1 A 1.80 °C/m & A1 S0 [T 3T A6
correct formulation of the above compound is ? 1w FET@TIT ?
(1) [Pt(NH;),Cl5]Cl1 (1) [Pt(NH,),Cl;]Cl
(2) [Pt(NH,),CLICL, (2) [PYNH,),CL,]CL,
(3) [Pt(NH;),CI|Cl; (3) [Pt(NH;),CI]Cl,
(4) [Pt(NH;),Cl,] (4) [Pt(NH;),Cl,]
63.  Which of the following is monomer of Teflon ? 63. T o @ FI TUATH T Teheleh & -
(1) CH,=CH-Cl (2) CH,=CH-CN (1) CH,=CH-CI (2) CH,=CH-CN
(3) CH,=CH-CH; (4) CF,=CF, (3) CH,=CH-CH, (4) CF,=CF,
64. Phenol and benzoic acid can be distinguished 64. ﬁFﬁ?anaﬁﬁg'cﬁ 3TF T forve foreeh g foram
by :- STHHATS -
(1) NaHCO;, (2) Neutral FeCl, (1) NaHCO;, (2) 3™ FeCl,
(3) Br, + water (4) All of these (3) Br, +3d 4) 3IULE Gt
| SAMPLE PAPER # 05 1001CMD302122005
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65.

66.

67.

68.

ALLEN
65.

Br, +KOH

[l ~
R—C—NH, relation between A

| LiAIH, | LIATH, )

and B is :-

(1) Position Isomers
(2) Homologues

(3) Functional Isomers
(4) Identical

Which of the following structures will give a

positive test with Tollen's reagent :-

0 OH
(1) O)‘\ @) @(

(3) SO0 @

Conc.KOH

Ph—CHO + HCHO
Major products will be :-
(1) PhCH,-OH + HCOO®PK®

(2) PhcOOPK® + CH,0H
(3) PhCOOCPK® + Ph-CH,OH
(4) HCOO®PK® + CH,0H

Which is the major product of the following
reaction :-

OH
@ " BI' FeBr, 9
; CICH; /©/

@r@c

66.

67.

68.

0 Br, +KOH
|

I
R—C—NH,

(&) A T B H &I

| LiAIH, | LIATH, 5,

T 2

(1) T aamesEh

(2) a5

O RERIRERLICRE

(4) @ar

e o @ e g e sifyedess & g
¥TeHeh TRIeToT o7t :-

o OH
(1) O)‘\ @) @

(1) PhCH,-OH + HCOO®PK®

(2) PhcOO®K® + CH,0H

(3) PhCOOCK® + Ph-CH,0H

(4) HCOO®K® + CH,0H

frefarRae stfufsran & g Soume e @ -

OH
+ B feBr S
CH A

ou oi

> e
CH; CICH:

Br N

OBr OH
SO IO
CH; CH; Br
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69.

70.

71.

72.

ALLEN
69.

The heating of phenyl methyl ether with HI produces :-
(1) Ethyl iodide (2) lodobenzene
(3) Phenol (4) Benzene

Reactivity order for SNl reaction :-

688 8

CH,CH, CIHCHs
CH,

(1) d>c>b>a 2) a>b>c>d

(3) a>d>c>Db (4) b>c>d>a

The major product of dehydration of O/}\/
(1) O)k/

Mg.A <1>W<

E,0 “OH, %> Product

3)

C@C%

SocCl,
[ 1 _OH Pyridine
O

Product of reaction is :-

OH
CH,~CH,-C-CH,8
CH,

@ no :\

O HO

70.

71.

72.

et AfreT o/ T HI 3 |1 T4 shid 9T T -
(1) T TEEE (2) AHASHsS
(3) TrTeT (4) S
Sy 1 o gfd foramefierar =1 -
Cl Cl Cl Cl
(a)@ (b)@ (c)@ (d)@
CH; CH,CH, CHCH,

(1) d>c>b>a (2) a>b>c>d

(3) a>d>c>Db (4) b>c>d>a

Ogﬁ/éaﬁsi?ﬂwaﬁrg@awﬁm

3) O)\/ @)

SOCL, ~ MgA (1)V<\ Salg
[ 1 ,OH Pyridine”  Et,0 ~ (2) H, O‘B'( )
aﬁqﬁwaﬂm%

O
0O

CH,
[ ] CH,
o |

3) CHQ—(IJ—CHz—OH

CH,

OH

(4) HO” HO CH,-CH,~C-CH,

CH,
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73.

74.

75.

76.

71.

ALLEN
73.

Which of the following does not give test of
unsaturation with Br, in CCl, ?

(1) CH,-CH=CH,
(2) CH,—-C=CH

e
AT

The element having high IE but zero EA is :-
() H

2) F

(3) He

4) O

Which of the following has been arranged in

order of decreasing dipole moment ?

(1) CH3Cl > CH3F > CH3Br > CH3l

(2) CH3F > CH;Cl > CH;Br > CH;l

(3) CH3Cl > CH3Br > CH3I > CH3F

(4) CH3F > CH;Cl > CH;3I > CH;3Br
Setting of cement in water is a process of :-
(1) Oxidation

(2) Reduction

(3) Decomposition

(4) Hydration

Methanoic acid is heated with conc. H,SO, to

form

(1) CO, (2) CH,

(3) CO (4) COOH

74.

75.

76.

71.

3% % & & Br,/CCl, T o @rer sreqwar s
ategor 72 4 2

(1) CH,-CH=CH,
(2) CH,-C=CH

e
ar

dcal el [E il 3= Afehd EA A2 a8 2 -
(I) H
2) F
(3) He
4) O
T 5 & i T STme o Tred shn § srafierd &

?

(1) CH3Cl > CH3F > CH3Br > CH;l
(2) CH3F > CH;CI > CH;Br > CH;l
(3) CH3Cl > CH3Br > CH3I > CH3F
(4) CH3F > CH;CI > CH;3I > CH;3Br
STet 8 Hfi=e 3 ST T ThH BidT 2

(1) STeretentor

(2) AT=IT

(3) ferErea

(4) SRS

IISH A I A5 H,S0, & & T T T
ITH BIaT &

(1) CO, (2) CH,

(3) CO (4) COOH
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78.

79.

80.

ALLEN
78.

Consider the following statements :-

(A) In the relation, rate = pzap ¢ ~Ea/RT ,ZAB IS
collision frequency which is independent of
temperature.

(B) When sodiumoxalate is added to the

= |Fe(SCN)[*
deep Red

S 3
equilibrium, Felo)

Y ellow

-O-SCN(*)

Colourless

then indensity of red colour decreases.

(C) First and second lines in Balmer series of
H-atom have red and green colour respectively.
The correct statement is/are

(1) Only A

(2) OnlyB & C

(3) Only A& C

(4) AllA,B,C

Which of the following anion is present in

single chain structure of silicate :-
(1) Si0,™

(2) Si,O;°

3) (81205%),

(4) (Si0;5?),

What would be the e configuration of atomic
number 90 element ?

(1) [Rn]5f'6d'7s?
(2) [Rn]6d*7s?
(3) [Rn]5f%6d"7s?
(4) [Xel4f'*6d''7s

79.

80.

s wam .-

(A) B9 & = pzape RT o 2, HOg mﬁ

2 S fom o ax fefe = ot
(B) Sis 918 Fer) +SCN = |[Fe(SCN)|*?
Yello%v Colourless deep Red

7 Hifeaw ifsicre e @ e &1 it dierar
et &

(C) H-TRHTY] o ST S0ft 3 Wem ot Tt warett
3T T SHHT: AT 0T 847 2

A FHIT /R -

(1) Faad A

(2) FIABAC

(3) FITATC

(4) A, B, Cadt

ety ffase & wonad & wHeT gy
8

(1) Sio,™*

() Si,0,°

3) (82057),

(4) (Si05),

TLATY] AR 90 AT Tedl H e fa=ATd FAT

T 2

(1) [Rn]5f'6d'7s?
(2) [Rn]6d*7s>
(3) [Rn]5f6d°7s’
(4) [Xel4f'*6d'7s?
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81.

82.

83.

84.

85.

ALLEN
81.

When KMnO, solution is added to oxalic acid

solution, the decolourisation is slow in

beginning but become instantaneous after some

time because

(1) CO,is a by product

(2) Mn?’" acts as an auto catalyst
(3) reaction is exothermic

(4) MnO, catalyzes the reaction

Ferromagnetic material is :-

() Zn () Gd (3) Th (4 Mn

Which of the following carbonyls will have the
strongest M—C bond ?

(1) [Mn(CO)e]"

(2) [Cr(CO)]

(3) [V(CO)e]

(4) [Fe(CO)s]

Solvay process can not be used to prepare :-
(1) NaHCO;

(2) KHCO;

(3) Na,CO;

(4) (1) and (2) both

The IUPAC name of O

O
(1) Butanedioic anhydride

(2) Epoxybutane-1, 4-dione
(3) Succinic anhydride
(4) All of these

82.

83.

84.

8s.

ST KMnO, foetas =01 sAiifes ot & faeem
4 et @ ar Tt o 1 g% # il are §
g oSt | fosfisha grar @, it

(1) CO, T Hg IS 2
(2) Mn®" T Tq: 3T o &9 H % T 2l
(3) arfirfsram Semardt 8t )

(4) MnO,” 3rfufsrar & 3coes it wifd i ar
H

aﬁ%ameﬁawﬁ%:-
(1) Zn (2) Gd (3) Th (4) Mn

fr & @ feg  wEifAda § M-C &9
TeTAdH BT 2

(1) [Mn(CO)]"

(2) [Cr(CO)e]

(3) [V(CO)I”

(4) [Fe(CO)s]

=T AT HTeel Woh| & T ST © -
(1) NaHCO,

(2) KHCO;

(3) Na,CO,

(4) (1)@ (2) qMT
0

O FTTUPAC T :-

(0]
(1) SIISEHISH TIRTESIES
(2) SUEHISIA-1, 4-ST5AH
(3) GHHifF TeTEeES
(4) STE Tuft
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This section will have 15 questions. Candidate
can choose to attempt any 10 question out of
these 15 questions. In case if candidate attempts

SECTION - B )

-

@IS T 15 97 81 wameff 37 15 v § A A
Y 10 w2 X Gehar 21 Af qhemeff 10 & ftrem wx
1 I AT & A & TR g I 10 I & A=

s -B

more than 10 questions, first 10 attempted K|
questions will be considered for marking.

\_ J N J

86. The standard heat of combustion of solid Boron 86. 3 S % HIMe & shl ISAT T AT ST
is equal to :- BT -

(1) AHP (B203)  (2) 2AHP (B203) (1) AHP (B203)  (2) 2AHP (B203)
1 1
(3) EAHfO (B,03) (4) 4AHP (B203) (3) EAHfO (B203) (4) 4AHP (B203)

87.  Inreaction H, + I, — 2HI, rate of formation of HI is 87.  Afufsram H,+ I, — 2HI ﬁ, HI & e 81 &l &
25.6 gL' s, then rate of disappearance of H, is : 25.6 g L™ s QI 4l H, o forcie 89 1 & 2 -
(atomic mass of I =127) (I =0T 9THTI] YR = 127)

(1) 12.8 gL 's™! (2) 2.56gL's™ (1) 12.8gL's™! (2) 2.56gL's"
(3) 04gL's™! (4) 02gL's! (3) 0.4gL's™ (4) 02gL's!

88. 1L of 1 M CuSO, solution is electrolysed, after 88. 1M CuSO, % 1L foret@= @ 2F 1maw venfed
passing 2F charge, the molarity of CuSO, will be :- 9 CuSO, i TITLAT fehaT Bl ;-
(1) 1M 2) M/2 (1) 1M 2) M/2
3) 2M (4) Zero 3) 2M 4) I3

89. D(+) Glucose react with hydroxylamine | 89.  D(+) hid STsgieaat THIT (NH,OH) o @t f5ra
(NH,OH) to give oxime. Structure of oxime is : ik SATHITSH T 2| SHTFATSH T el ST -

CH=N-OH CH=N-OH CH=N-OH CH=N-OH
H—1—OH HO—1—H H——OH HO——H
HO—t—H HO—1—H HO—t—H HO—1—H
D yo——n. @ p——on D yo——n @ y——on
H—1—OH H—t—OH H——OH H—1+—OH
CH,0H CH,OH CH,0H CH,0H
CH=N-OH CH=N-OH CH=N-OH CH=N-OH
HO H H———OH HO H H OH
3 H—1—OH ’ HO—1—H 3 H——OH 4 HO—1—H
® wo——n @ p——on @ po—t—n @ yw—L—on
H—r—OH H—1—OH H——OH H—1—OH
CH,OH CH,0H CH,OH CH,0OH
SAMPLE PAPER # 05 1001CMD302122005 |
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90. (“3 || 90. ” ﬁ)
CH,-C-CH,-C-(l CH3—C—CH2—C—C1
reagent lﬁw
?H OH
_CH-CH, —CH, — |
CH, - CH-CH, - CH, - OH CH, - CH-CH, - CH, - OH
iR BT HehdT & :-
Reagent can be :-
(1) LiAlH, (1) LiAlH,
(2) NaBH, (2) NaBH,
(3) H,/Pt (3) H,/Pt
(4) All of these (4) STk aeff
91. CH3—CH2—(|3H—(|3H—CH3 —2 5 (A) 91. CH3—CH2—(IZH—(|ZH—CH3 — 5 A)
CH, OH CH, OH
HBr HBr
CH;CH,0H — (B) CH3CH,0H — (B)
(A) +(B) — (O (A) +(B) — (O
The product (C) will be :- 31 (C) BT -
) CH3—CH2—(IZH—(|3H—CH3 (1) CHg—CHz—(liH—tliH—CHg
CH, O-CH,—CH, CH, O-CH,—CH,
(2) CH,-CH, (2) CH;CH;
(3) CHS—CHZ—(EH—CH:CHZ (3) CH3—CH2—(|:H—CH=CH2
CH, CH,
4y CH~CH=C-CH,~CH,
(4) CH,~CH=C-CH,—CH, |
I CH,
CH,
92.  Which of the following is most stable cation ? 92. =T H O FI waifere AR AR § 2
@ ® @ @D D @ ® @
(1) O @) O 3) OOM) O (1) O @) O 3) OO@) O
© o) O o)
| SAMPLE PAPER # 05 1001CMD302122005 |
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93.

94.

9s.

96.

97.

ALLEN
93.

If violation of Hund's rule is possible then the
magnetic nature of B, & O, (According to

MOT) respectively will be :

(1) Paramagnetic, Diamagnetic
(2) Diamagnetic, Paramagnetic
(3) Both are Diamagnetic

(4) Both are Paramagnetic

A compound which can be used in space

vehicles both to absorb CO, and liberate O, is :
(1) NaOH (2) Na,O
(3) Na,0, (4) CaO +NaOH

Which of the

paramagnetic with two unpaired electrons ?

following complex is

(1) K;[Fe(CN)q] (2) K,[NiCly]

(3) K,[CoCl,] (4) Na,[Ni(CN),]
Incorrect option regarding KMnO, is :-
(1) It is isomorphous with KCIO,

(2) Itis coloured due to d-d transition

(3) It is tetrahdedral in shape

(4) H,C,0, decolourised its purple colour in

acidic medium

Which of the followings will give curdy white
precipitate with AgNOj solution ?

94.

9s.

96.

97.

afe gue o1 fw &1 are 7 fopar Sg A eAfvae
Herh (g % SR W B, T O, H Jraehig
Spfer B -

(1) FTIFhH, Slaeraehid
(2) SfdeFaehia, STTrarehi

(3) AT AfceFaeh

(4) AT ATIFH

= ¥ ¥ s A siafer a= & co, A
AN B T O, 1 Ica=~T T H HTH AT
(1) NaOH (2) Na,0

(3) Na,0, (4) CaO + NaOH

e & S ©1 et STTEhiT @ T 36 af
E RIS ECICRI S R

(1) K;[Fe(CN)] 2) K,[NiCl,]

(3) K,[CoCl,] (4) Na,[Ni(CN),]
KMnO, & fT 318 forea 2 -

(1) I8 KCIO,  Trer quTeh{crshdT Jaf¥fd hiar 2|
(2) IE d-d HsRHIT % HIOT T R

(3) IS ATHAH AT L@l 2l

(4) H,C,O, 9% ST {1 o1 el wream o
TTEN L 3T 2

e & i @1 Afies AgNO, foeem & srfuferan
FH T AT TTET T 2

Cl Cl
(1) © @) /\Cl (1) ) /\Cl
Cl Cl Cl Cl
(3) @ 4) (3) 4)
[ SAMPLE PAPER # 05 1001CMD302122005
E+H Space for Rough Work / Yt PP 'i%lT{ ST Page 25/52



ALLEN

98. Consider the following sequence of reaction. If | 98. e srfafrarstt & o0 W om0 afg A
A is sulphuric acid then incorrect statement is :- AR 3T EEKIRGGERERUI
(D) D)
T—Hzo T—Hzo
Bye—tO _ (a) SOy 5 -0 () B0 (o) LSOy 5 O ()
-H,O -H,O
l+O l+O
(F) (F)
(1) Cis Caro's Acid (1) C T T 2l
(2) D has maximum oxidation state of sulphur (2) ATHL A AR AT TSRT 37T D H 2l
(3) Both E and F contain peroxy linkage (3) EdATF ST T qUHT e )
(4) Hydrolysis of E produces H,0, (4) E % ST 1991 § H,0, 3cq—T 2T 2
99.  For the reaction, 99.  Irfyferam
CHygp) + 205 = COnq + 2Hy0), CHyg) + 205 5= COn + 2H,0),
AH = -170.8 kJ mol ™! o TT AH = -170.8 fohaise At L 2 |
Which of the following statement is not true? freferRad & | shiAET e T TRl © 2
(1) Addition of CH,, or Oy at equilibrium (1) | T CH ) AT Oy, THAT o TTFT 27T
will cause a shift to the right. AR TIHI=ANT 2 ST 2
(2) The reaction is exothermic. ) Syfurferam SeaTardt 21
(3) At equilibrium the concentrations of (3) EH T CO,(,, AT H,0(0) T FTesare a9
CO,,) and H,0O(¥) are not equal. e
(4) The equilibrium constant for the reaction 4 s & for  am R
(010 CcoO
is given by Kp = _1COs] Kp = €02
[CH4J[O2] [CH4J[O2]
100. What is the n-factor of [Cu(CN),] in the given | 100. dF 718 teid fIGRAT & [Cu(CN),]” T n— F1H
redox reaction iUl
0-A 0-A
[Cu(CN),]*—— Cu*+CO,+NO; [Cu(CN),]*—— Cu"+CO,+NO;"
(1) 21 (1) 21
(2) 32 (2) 32
3) 41 (3) 41
4) 16 4) 16
| SAMPLE PAPER # 05 1001CMD302122005
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SUBJECT : BOTANY

Topic : Full Syllabus

L

SECTION - A
Attempt All 35 questions

101.

102.

103.

Auxospores or rejuvenescent cells are

characteristic of —
(1) Dinoflagellates  (2) Euglenoids
(3) Diatoms (4) Slime mould
Which of the following is incorrect ?

(1) Viroids are smaller in size to viruses

(2) In ¢ x 174 bacteriophage -ss DNA is

present
(3) Viroids are similar in size of viruses

(4) Generally in plant viruses, ssRNA is

present.

Study the following diagram carefully and
select the correct statement given below for this

plant :-

(1) Itis a source of carrageen
(2) It show haplontic life cycle
(3) Laminarin is stored food in it

(4) (2) and (3) both

(

g s - A
aeft 35 wr rfaar §

101.

102.

103.

HFEIEAT A1 gAshaf wifvwd stwagn
H

(1) SENRINEH  (2) IeHES H
(3) SrEeH = (4) 37U FHdh FT
frfaftaa & @ siar sEca 2 2

(1) IS THR A I T B BT 2

(2) ¢ x 174 SHATIST # Thet TS DNA
T ST 2

(3) STERIEEH T H ATHH o FHH 2 2
(4) HHT=Id: 9IEY SATSTEI § ssRNA T 1T 2

T3 fomt =1 Sy STea shifor qeT 59 ey
o ToTe i<t fe2 TR Wt ot 1 = hifS -

S

(1) I HIS T &1 2

(2) IT MR Sfa =I5k ST 2
(3) IHTE 3! Tufed HisH 2l
(4) ()@ (3) 3
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104.

105.

106.

107.

ALLEN

Which of the following gymnosperms have
branched stem ?

(1) Pinus
(2) Cycas
(3) Cedrus
(4) Both (1) & (3)

Which of the following is single membrane

bound organelle ?

(1) Mitochondria

(2) Nucleolus

(3) Chloroplast

(4) Spherosomes

DNA replication occurs during :
(1) G,—Phase

(2) G,Phase

(3) S-Phase

(4) M-Phase

Diagram given below showing the phases of

cell division, identify the diagram & choose

right option regarding them.

(1) A =Metaphase, B = Anaphase-II

(2) A =Metaphase, B = Anaphase-I
(3) A = Metaphase-I, B = Anaphase-I

(4) A =Metaphase-I, B = Anaphase

104.

105.

106.

107.

fre7 & 9 v gt § wiaa ar grar
g ?

(1) 78
(2) T

(3) #iga

(4) (1w (3) 30

01 1 & wohet fereett & Srrafia sifdrni BT @ 2

(1) wrEerehif-gat

(2) chfseht

(3) A=

(4) ThHTHEE

DNA Sfeieh{cehtor qriT STt & 2
(1) G,-3aeard

(2) G,-ATEATH

(3) S-ITIETH

(4) M-3Taer ¥

Fiar few 7 for wifsrenT fovre it StaeeTt ot
a2 o o UgEEeR 3 gFery § el
fershe =t g

(A) :i; (B) @66
: ol

(1) A=WEAEET, B = YgTeaw-II
(2) A =WEAEET, B = YLTEw-I
(3) A=THEEAT-], B = UTaEdT-]

(4) A =9SEEA-I, B = yTaEd
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108. Latex of poppy fruit is obtained by process of :- 108. 3THIT % BeAT § TIead fohe Ifeham & ITH BT R :-
(1) Transpiration (1) EIRIIEE]
(2) Bleeding (2) wEd
(3) Guttation (3) fergama
(4) Imbibition (4) A==

109. Frankiais symbiotic with :- 109. HfFIraesiitedT s ¢ :-
(1) Root nodules of Alnus (1) GoTaht 7t URRlT & |1
(2) Stem nodules of Alnus (2) THgH T T o Ty
(3) Leaf nodules of Alnus (3) Toght uvt o= & ey
(4) Root nodules of Legume plants 4) @WE aTeyT sht qd Tt o drer

110. A process that makes important difference 110. C,dATC, e | Ueh G -l ERCiCIIRIED)
between C; and C, plants is :- FATE 2
(1) Photosynthesis (1) TSRTIT EHHOT
(2) Photorespiration (2) JPRT-FHT
(3) Transpiration 3) AT TedSiT
(4) Glycolysis (4) TATERIATIT

111. Find out the enzyme which is activated by | 111. 39 USIEH %I g¢ SEehT a1 AMP/ADP & Ui
AMP/ADP and inhibited by ATP is :- Bict 8 T ATP & Heftrd Bl © -
(1) Cytochrome oxidase (1) TTIEhm AffRaest
(2) Phosphofructokinase (2) W‘ﬁgﬁ?ﬁmﬁ?
(3) Hexokinase 3) RESIEIECE
(4) Succinate dehydrogenase (4) Eﬁﬂﬁ?%‘sﬁ@ﬁﬁ?

112. Photoperiodism was discovered in :- 112. verer Sfeemferar it @i s arey o §'§ ?
(1) Sugarcane (1) =t
(2) Tomato (2) eHIX
(3) Wheat 3) T
(4) Tobacco (4) dwsITR

| SAMPLE PAPER # 05 1001CMD302122005
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113.

114.

115.

116.

117.

ALLEN

Fill the blank space :-

Penicillin was extensively used to treat
American soldiers wounded in world
war.

(1) First (2) Second

(3) Third (4) All of the above

When resources in the habitat are unlimited ?

(1) Population grows in an exponential or
geometric fashion

(2) Impact of natality and mortality becomes zero
(3) Species exhibits sigmoid growth model

(4) Population shows Verhulst Pearl-logistic growth
Which one is an example of ectoparasite ?

(1) Plasmodium (2) Ticks
(3) Taenia (4) Ascaris

In the process of decomposition some nutrients
get tied up with the biomass of microbes and

become temporarily unavailable to other

organisms. Such incorporation of nutrient in

living microbes is called :-
(1) Nutrient cycling

(2) Bio-geo-chemical cycle
(3) Nutrient immobilization
(4) Nutrient mobilization

Species diversity as we move away from

the towards -
(1) decreases, equator, poles
(2) increases, equator, poles

(3) decreases, poles, equator

113.

114.

115.

116.

117.

ﬁ?ﬁ%’%’ﬁ@:—

Ol 1 S foa g # o
e faurfeat & ST # =umue &9 9 fohan
|

(1) 92| (2) g
(3) L (4) 3T @t
forelt stTame 4 gy afe stHifiq 8-

(1) q9 |9T8 =RETdih AT SAHdT At §
Ffeg et 21

(2) SHEX TE HIEL IS I &1 STl &
(3) wfa fermtse afg aise g 21
(4) TwfE fgee-ael-anfsiites i awidt €

=1 O 9 1 U oTer IS shi 3SRt B
(1) IrHieTq () e (Ffafsar)
(3) (4) TEHRT

HYEE T TTHAT H S WS GEASTAT o STHI
4 gt i i S 8w g w9 ¥ g g
Stelf o foTT Sfguerss 1 S1d & 36 Yoh @Sl b

HEHSHIEl H GHTI €1 ST T € :-

(1) Gfst =shor

(2) SE-Y-THTAF =5

(3) ek Fererar

(4) deh Terdr

S farfarerar. .. GRS i 2 A 2]

(1) =, e T, gai
(2) S, S L, ga
(3) =, g, He

(4) none of these (4) SUUH | § IS Tal
| SAMPLE PAPER # 05 1001CMD302122005
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118.

119.

120.

ALLEN

Amrita Devi Bishnoi award is given to

individuals or communities from rural areas
that have shown extra ordinary courage and

dedication in :-

(1) Biotechnology

(2) Organic farming

(3) Minimising O.D.S (Ozone depleting substance)
(4) Protecting wild life

In the given food chain, which of the following option

correctly represent A and B?

Water — zooplankton — small fish — Large fish —» B
[DDT [A] [DDT [DDT  [DDT
0.003 ppb] 0.5PPM]  2PPM]  25PPM]

[Biomagnification of DDT in an aquatic food chain]
(1) Ais 0.004 PPM and B is Hawk

(2) Ais 0.04 PPM and B is fish eating birds
(3) Ais 0.4 PPM and B is fish eating birds
(4) Ais 0.2 PPM and B is Hawk

Match the following column-I with column-11?

Column-I Column-IT
(1) | Los angeles smog | (a) Pb
(i1) London smog (b) PAN
i Vapour of
(ii1) Minamata ()
H,SO,
(iv) Plumbism (d) Hg

(1) i-b,ii-c,iii-d,iv-a
(2) i-b,ii-c,iii-aiv-d
(3) i-c,ii-b,iii-d,iv-a

(4) i-c,ii-b,iii-a iv-d

118.

119.

120.

FaTedt forsis qreshT amior & o U safwdt ar
el H fean s @, e B A w R %
HTEAT o oY S1av[ @red I aador fe@m € -

(1) St TR

(2) Sk Tt

(3) O.D.S (AN &7 veref) # et
(4) FgStar ¥ T&m

fow gu @ gwen # T § & %9 @ fawer A
3 B I Hel ¥ SR & 2
T — UOad - BIC 78l — T1 79l - B

[DDT [A] [DDT [DDT  [DDT
0.003 ppb] 0.5PPM] 2PPM]  25PPM]
SEEREEIEPERIR N EEISERIcErl!
(1) A =T 0.004 didfium 3T B o1 81
(2) A T 0.04 Hiiun ST B T wafl uafi R
(3) AT 0.4 TiHiuR 3R B 7 Waft uaft )
(4) A %102 ifiug 3R B 17 21
TAR-] T TaR-11 & e shifsre 2

wWH-I -1
(i) | <@ dfied | (a) Pb
(i1) e T (b)

(iii) WM (c)
(iv) wAftey (d) Hg

PAN

H,SO, & aTsq

(1) i-b,ii-c,iii-d,iv-a
(2) i-b,ii-c,iii-aiv-d
(3) i-c,ii-b,iii-d,iv-a

(4) i-c,ii-b,iii-aiv-d
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121.

122,

123.

ALLEN

In a family of honey bee, which of the
following member does not have father and
thus cannot have sons, but have a grand father

and can have grand sons.
(1) Queen

(2) Worker

(3) Drone

(4) Sterile female

Which of the following statement is true for
colourblindness ?

(1) It is due to mutation in certain genes

present in X-chromosome

(2) It occurs more in female as compared to

male

(3) The son of a carrier woman has 50%

chance of being colourblind
(4) Both (1) and (3) are correct
Which of the

generally true ?

following statements - is

(1) A dominant allele also determines its
recessive trait

(2) A

beneficial.

recessive  allele is always

(3) A recessive allele always does not produce
its recessive trait when paired with its

dominant allele

(4) A dominant allele is always better for an

organism

121.

122,

123.

wynAFEl & giEre #, FEA d ¥ Hiaw
qeEg & fUar 9€ & sra: 3Tk gA AL

B WHT ® gI-g 3T AT AT © q°r v
& gHd 2

(1) T

(2) #feh

3) g+

(4) ST TTET

JUTT-eraT o TTT hi=aT e JE1 8 2

(1) 78 fospfa X W Suféed F Sl 4
ITANE o ST Bl 2

(2) I W& # AT HI qAN H SATS A

g

(3) aTe AT o T H $6 T 3 B hl FrrarT
50% 2l

(4) (1) 3T (3) ST T 2

frafafaa & st9er w97 graregqa: g

29

(1) T gaTet Tellad 1o Agwret fauafet =
ot frerfoor shear @

(2) TH AT TeATA, THIM HIASHE BraT
H

(3) T AUV Tehidd, THIM T STIve
forortet T saTaT €, St geeh! g uefter
o T fier fora s 2

(4) T IV TelaT e Sfig & fora gaem san
BT 7l
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124. Correctly match column-I with column-IT :- 124. (aq-1 o1 Hicaq-11 & 91 &I oA FaTs3-
Column-I Column-IT I FIARII
1.4 million ot .
(A) | 1** Chromosome | (i) (A) | 17 TTorE (i) | 1.4 fafere stme
locations
(B) | SNPs (i) |2968 ST
(B) | SNPs (i1) | 2968 genes
. (C) |femafmasfim | (iii) | 3000 bp
(C) | Dystrophin gene | (iii) | 3000 bp
Average bp in a o S . et
(D) (iv) | 2.4 million bp (D) (iv) | 2.4 bp
gene bp (AR IH)
(1) A-i, B-ii, C-iv, D-iii (1) A-i, B-ii, C-iv, D-iii
(2) A-ii, B-iv, C-i, D-iii (2) A-ii, B-iv, C-1, D-iii
(3) A-ii, B-i, C-iv, D-iii (3) A-ii, B-i, C-iv, D-iii
(4) A-ii, B-i, C-iii, D-iv (4) A-ii, B-i, C-iii, D-iv
125. Which of the following statement is incorrect 125. 597 9 @ Fi94T YT BeeATs ST o a1 | Teld
about satellite DNA ? 29
(1) Satellite DNA shows high degree -of (1) Hease SuAT =9 it hii sgeaar weikia
polymorphism L 2
(2) Highly repetitive DNA (2) Tcafes Wﬁ SEiy
(3) Satellite DNA is non-coding (3) TS SITAT FTT-hIFET BT B
(4) Satellite DNA codes for specific (4) Yearze AT AR YR i T *l Fie
proteins 2l
126. The equivalent of a structural gene is : 126. T=feiad & @ 9 AT 9 & T © -
(1) Operon (D) FEINED
(2) Recon (2) I
(3) Muton (3) 34
(4) Cistron (4) 99X
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ALLEN
127. ©% % Afaltw srgaifos sifwaitid %

127. All the statements are correct about genetic

128.

129.

130.

engineering except one. The incorrect

statement is :-

(1) It is a technique for artificially and
deliberately modifying DNA (genes) to

suit human needs
(2) It alters the chemistry of genetic material

(3) The organism carrying the foreign genes is

termed as transgenic or GMO.

(4) Alec

genetic engineering.

Jeffery is the father of

The technique of obtaining large number of
plantlets by tissue culture :-

(1) Macropropagation

(2) Meiosis

(3) Embryogenesis

(4) Micropropagation

Rachis is formed when the leaf is :-
(1) Simple, not compound

(2) Pinnately compound

(3) Palmately compound

(4) Both2 &3

Bilateral/Zygomorphic symmetry is found in
the flowers of :-

(1) Brassica
(2) Cassia
(3) Capsicum

(4) Datura

128.

129.

130.

T gt wg7 € g IT AW HAT
E\TTIT :-

(1) I8 A STERIFATA! F ITER DNA
(ST 1 FHE T 8, FrEEHTES ST
A T T 2

(2) IE SAIANTTR TaTel ht T i
aferd e 2

(3) forelt o= el S Ik S sl awstHt
a1 GMO F&d &

(4) T SThY, STaifRTen ATt & S 2

Fdeh et SR S8 ST W ITaHT Shl STH L
eI i T hed ol

(1) < gaela

(2) STt forwrem

(3) YUt

(4) gEHTEH

foreare (Xferr) T fmfor 2T 8, ST ot 2reft 2:-
(1) |, Beh T

) fr=smr 4gH

(3) TETHR 4T

(4) 2T9T3 AT

feoTt¥er/wepsara wwfira forerer gt # dTg STt
2 -

(1) saars
(2) EATH
(3) IUGFTH

(4) gqTH
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131. Maize grainis a: 131. TFRTHTEATR :
(1) seed (2) fruit (1) s (2) &
(3) flower (4) inflorescence (3) ™ (4) ToshH

132. Position of protoxylem and protophloem in leaf 132. Ul § WISISTSAH qT Tardediad sl shasT: feefa
respectively are :- T g
(1) Abaxial and Adaxial (1) 91T 9 A
(2) Adaxial and Abaxial (2) I F AUTE
(3) Both Adaxial (3) ST I
(4) Both Abaxial (4) ST 9T

133. In Angiosperm all the four microspores of 133. smgqsis o=y agrsﬁsnugaﬁ *
tetrad are covered by a layer, which is formed aqsH # gftsg &3 archt fofy s
by :- adt 7 .-
(1) Pectocellulose (D) ﬁ’c@'@?ﬁc—fﬁﬁ
(2) Callose (2) e
(3) Cellulose (3) A
(4) Sporopollenin “4) TR

134. The endosperm in gymonosperm is - 134. C‘Hqﬁﬁiﬁ?ﬁ L ‘H;UTCﬁ'Gf TR -
(1) Haploid (1) 3mfore
(2) Diploid ) fspra
(3) Triploid 3) B
(4) Polyploid 4) a’g”lﬁa

135. In which of the following plants, the nucellar 135. = T T EaE) RIGE) "
cells start dividing and develop into the TSI IR FTATS HEAT I Ll &
embryos ? Wﬂﬂﬁﬁﬁﬁﬁﬁﬁ%?
(1) Citrus and mango (1) fiza a 3 o
(2) Parthenium and maize 2) AT o ekt
(3) Peaand gram (3) TXITAH
(4) Wheat and rice 4) ﬁ'%;a EIEKK]
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SECTION - B )

This section will have 15 questions. Candidate

can choose to attempt any 10 question out of

these 15 questions. In case if candidate attempts

more than 10 questions, first 10 attempted
L questions will be considered for marking.

J

136. Which of following taxonomic aid provides
information for the identification of names of

species found in an area?
(1) Monograph

(2) Manual

(3) Museum

(4) Catalogue

137. Pteridophytes differ from mosses in having?
(1) dependent gametophyte

(2) independent and dominant sporophyte
(3) independent and dominant gametophyte
(4) leafy gametophytes

138. Cell recognition and adhesion occur due to
biochemicals of cell membrane named :-

(1) proteins
(2) lipids
(3) proteins and lipids
(4) glycoproteins and glycolipids
139. Which one of the following acts as shielding
pigment?
(1) Chla
(2) Chlb
(3) Chlc

(4) Carotenoids

-

!l

@IS T 15 97 81 wameff 37 15 v § A A
oY 10 w2 X Gehar 21 Af qheeff 10 & ftrem wx
1 I 3T & A & TR g I 10 W & A=

TS - B

J

136.

137.

138.

139.

=1 O @ = 9 afiteht gerdT ared U & 0 urg
ST ATt STt o A9 ol Tg==- sl g1 adl
22

(1) AHETH

(2) T

(3) HURTd

(4) gl

fopereht ufkerfa & 2fcerey, wr @ =T a2 2
(1) ST FHBIEg

(2) A qn gl sfisogfeg
(3) T QT WS FHIREG,
(4) uviet THhIfag

HIRERT Gea T AT Hifden el &
SIEITHTIAT o T it & fSTehT 1 2 -

(1) S

(2) fofue

(3) A R fafre

(4) AR 3R ATTHRITATTS

frafafaa & @ =99 @ aufs e avis & @
S AT 22

(1) Chla
(2) Chlb
(3) Chlc

(4) RfeTed

| SAMPLE PAPER # 05

1001CMD302122005

Page 36/52 Space for Rough Work / B $Td & foIT o118 E+H



140.

141.

142.

ALLEN

‘Which of the following is the examples of biofertilizers ?

(1) Gree manure

(2) Compost manure

(3) BGA and VAM

(4) Green manure & chemical fertilizers

Which factor is / are responsible for formation

of major biomes :-

(1) Annual variation in precipitation

(2) Annual variation in the intensity and

duration of temperature
(3) Regional and local variation

(4) Both 1 and?2

Match List-I with List-II and select correct
answer:

List-I List-II
Species Extinect from
Stellar'
Ay |2 S G Mauritius
cow
Passenger .. )
B) | . (i1) | Australia
pigeon
(C) | Thylacine (iii) | Africa
(D) | Quagga (iv) | Russia
North
(E) | Dodo v) 0 .
America
A B C D E
e)) iv v iii il i
(2) v v il iii i
3) iv v i il il
4) iv i v ii iii

140.

141.

142.

= o o e S 3w © 2
(1) sli@E

(2) FAE @

(3) BGA T VAM

(4) & @E aUT et 39

ST o HEIOT H R / A R Feddd
Ser 2 -
(1) a1 o arfer farfir=rar

(2) AUEE H T qer ety W arfyes
fafsrear

(3) &t qur T fefirand
(4) STH 192

G-I o7 GeAl-11 o A1 e shifsTe e &t o
EIRCCICEAIE I

et - 1 et -1

s e e
(A) ?;w A w () |"fEEd
(B) | ATt e (i) |siegfears
(C) | arafem (iii) | 3TfpapT @
(D) | F@mm (iv) |®a®
(E) |2t (v) |3att i

A | B C D E
1) | iv v iii ii i
@ | iv v ii iii i
3) | iv v i ii iii
@ | iv i v ii iii
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143.

144.

145.

146.

ALLEN

When a garden pea plant with intermediate
sized starch grains in seed is crossed with other
plant having small sized starch grains in seed,
the total number of seeds obtained in progenies

is 120. What is correct for these progenies ?
(1) 90 large size, 30 small size

(2) 60 large size, 60 small size

(3) 60 intermediate size, 60 small size

(4) 30 large size, 60 intermetiate size, 30

small size

Two genes A and B present on same chrososome
show 30% recombination, then what will be the
percentage of gamete (aB) for the plant having

genotype AaBb in cis arrangement :-
(1) 40% 2) 70%
(3) 20% 4) 15%

The given sequence when translated must
form a polypeptide of how many amino
acids ?

5'-CUCAAAUCCAUGCCCUGGGCUUGUUAGCGA-3'
(1) Eight (2) Nine
(3) Six (4) Five

Which of the following is not the objective of
biofortification ?

(1) Reduction of protein content and quality
of the food

(2) Increase in oil content and quality of the food

(3) Improvement in micronutrient and mineral

content of the food

(4) Improvement of vitamin content of the food

143.

144.

145.

146.

SIS Ueh I {X UTey, forad i § qeam A/
% T U © KT 19 9 U qreq 9 foram S @
S B PR & T H1 Bd © dF Garadr 9
F 120 SfiST I &1 € $7 Sl & g 71 g9
U

(1) 90 S ITHR &, 30 DI ATH &
(2) 60 TS ITHR F, 60 DI ATHR &
(3) 60 TEIH ATHR &, 60 DI ITHR &

(4) 30 T ATHR &, 60 TLH ATHR &, 30 DI
ATHT

ST A & BT {6 U & o W fd © 30%
S fafomr wefdia td ® @ fae sraeer ar
AaBb SfHICTEY ATet U H (aB) Iweh i Sfaeraar
T BN -
(1) 40% () 70%
(3) 20% 4) 15%

fo2 T SR S SrFAied B &, df foRa sl
TR ol UTCTIRTSS G ST a1y 2

5'-CUCAAAUCCAUGCCCUGGGCUUGUUAGCGA-3'

(1) =3 (2)
3) (4) uf=
foret & o 1 St gt T Se A © 2

(1) IS H I T AT F orerr | FHHT

(2) IS H O ShT /AT o WIS ST TT0rarT i
EEL

(3) IS H G&H Ik & WiSI ohl AT T YR
(4) S H forerfem =t ar gl
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147.

148.

149.

150.

ALLEN

Which of the following plants is used to make

"ashwagandha" tonic ?
(1) Trifolium (2) Withania
(3) Lupin (4) Cassia

Commercial cork is obtained from :-

(1) Quercus (Oak) (2) Salix

(3) Betula (4) Eucalyptus
Match the column-A with column-B
Column-A Column-B
(i) | Budding (a) | Cockroach
(i1) | Binary fission (b) | Hydra
(iii) | Gemmule (c) | Amoeba
(iv) | Gamete formation | (d) | Sponge

(1) (©)-b, (i1)-c, (iii)-a, (iv)-d

(2) (i)-b, (ii)-c, (iii)-d, (iv)-a

(3) ()-d, (i1)-a, (iii)-c, (iv)-b

(4) (i)-d, (i))-b, (iii)-c, (iv)-a

Read the following statements carefully :-

(A) Egg apparatus consist of two synergids and
one antipodal cell

(B) Transfer of pollen grains from the anther to the
stigma of another flower of the same plant is called

147.

148.

149.

150.

famfafiaa 9 @ fore D @ 7w eifde s=mn
ST g 2

(1) ZrEwiferag (2) faerf=ar

(3) I (4) e

STITIER hich ITH fohaT ST 8-

(1) FFFEHAF) T (2) dfo@ad

(3) dgrd (ST H) (4) FHlereqd

FITH-A T HIAH-B % H1Y GHTAT shior
HIAH-A FHiaH-B

(i) |TEew (a) | TRT=

(i) |faferamsm | (o) |2t

(ifi) | S (c) | e

(iv) | Fwe i | (d) | &=t

(1) ()b, (ii)-c, (iii)-a, (iv)-d

(2) (i)-b, (ii)-c, (iii)-d, (iv)-a

(3) (i)-d; (ii)-a, (iii)-c, (iv)-b

(4) (i)-d, (ii)-b, (iii)-c, (iv)-a

3T et 1 eAIEe G -

(A) Vg (WH=) IURO ok Had @
(B) T I8 o TUTHUTT b1 SET ITe o GHL 0 o
SAFTRTEIT R TRATHTAROT STt TRITOT STl &

geitonogamy (C) 9g qT STl ST & FHhl H TTHT I
(C) Pollen grains coming in contact with stigma is FfcishTar o Heh | STHT s AT HeAT &
a chance factor in both wind and water pollination. (D) STet g1 9IiTor TR AT T ©
(D) Pollination by water is more common SUUE FHUAT T A R U ot 82
How many above statements are correct?
(1) One (2) Two (1) T (2) &
(3) Three (4) Four (3) dH (4) IR
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ALLEN

SUBJECT : ZOOLOGY

Topic : Full Syllabus

L

SECTION - A
Attempt All 35 questions

151.

152.

153.

154.

155.

The image formed in the eyes of cockroach is :-
(1) Apposition

(2) Superposition

(3) Both (1) and (2)

(4) None of these

Which of the following is absent in the blood
of earthworm?

(1) Salts (2) Haemoglobin
(3) RBC (4) Proteins
Main cause of "Kala azar" disease is :
(1) Leishmania donovani

(2) Trypanosoma gambiens

(3) Female anopheles

(4) Culex mosquito

Skin of frog is :-

(1) Dry & cornified

(2) Moist & cornified

(3) Moist & smooth

(4) Dry & glandular

Which of the following animal is considered as

"Living fossil" :-
(1) Limulus (2) Spider

(3) Eupagurus (4) Scorpion

(

Qs - A
aeft 35 v rfaar §

151

152.

153.

154.

155.

iR 1 31 & BRE TR SRR e 8-
(1) worSrer

(2) grwsfeE

(3) ()T (2)

(4) 378 T IS T

FIT % TH 4 HF H F FA1 Sgafead grar
7

OREL () FRwrafem
(4) T=
BRI TSI TAT AT q&A SR 2 -
(1) gFrr it

(2) fouraiar Aftsda

(3) HI&T UHIfhfere

(4) I st

T ohl coraT BIdT & :-
ORCIERUED

(2) et offiepa

(3) Theft 7 fast

(4) et 9 v

frfafad @ @ sier s sfifaa stamas
IR E -

(3) RBC

(1) feregera (2) HAS
3) TRE (4) TRRfUEE
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156.

157.

158.

159.

160.

ALLEN

Refer the figures A, B and C and choose the

correct option which shows animals that

regulate buoyancy with the help of air bladder:-

C
(1) AandB (2) AandC
(3) BandC (4) Bonly

Cuboid epithelium with microvilli present in :-
(1) PCT

(2) Henle's loop

(3) Collecting duct

(4) Bowman's Capsule

Which of the following compound is absent in

acid insoluble pool ?
(1) Protein (2) Lipid
(3) Polysaccharide  (4) Monosaccharide

Palmitic acid has how many double bonds

between C—C atoms ?

(1) 1
3) 2

2) 4

(4) zero

Identify the incorrect match among following :-
(1) Duodenum — C shape and 25 cms

(2) Jejunum — Maximum absorption

(3) Ileum — Absorption of Vitamin B,

(4) Colon — Peyer's patches

156.

157.

158.

159.

160.

o T o A, B @91 C o Hew # 38/37 STl
I I S AR I Rl FERAT § STkl i
frafid a2 2

(1) AT B (2) fa@nc

(3) BaaTC (4) ¥ad B

YEHTEHT Ik FHTHIR STkl fohert Safberd gret @ -
(1) PCT

(2) T

(3) TS AlcTehT

(4) ST GFe

3fF SAfocid Wi & e & & orqafted g
72

(1) Ie= 2) fafre
(3) UliaRsE (4) AREHIES

qiffess vt o Hre-hied & stw forad feewr
frea 22

(1) 1 (2) 4
3) 2 (4) zero
7 5 9 TTeTd A BT T -

(1) TRUft — C 3R 3R 25 cms
(2) T — Talfereh STTINor

(3) &8 - Vitamin B, T S7a2rsor
(4) i - 9 & I
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161.

162.

163.

164.

ALLEN

Pancreatic lipase acts upon-
(1) Glycogen

(2) Triglycerides

(3) Disaccharides

(4) Polypeptides

Mark the correct pair of muscles involved in

the normal inspiration in human beings :-

(1) External and internal intercostal muscles
(2) Diaphragm and abdominal muscles

(3) Diaphragm and external intercostal muscles
(4) Diaphragm and internal intercostal muscles

Increased  attacks of bronchial asthma, in

certain seasons are related to

(1) eating fruits preserved in tin containers
(2) inhalation of seasonal pollens

(3) low temperature

(4) hot and humid environment

Read the

corpuscles:-

following properties of blood

(a) They are colourless due to lack of
haemoglobin

(b) They are non-nucleated

(c) They are relatively lesser in number which
averages 6000-8000 mm > of blood

(d) They have long life span approx 120 days
Out to these which properties are not shown by

leukocytes ?

161.

162.

163.

164.

STl ATSuT fohe o fopa e @ -

(1) TeTgehISH

(2) grEficerTEe

(3) TTEEHTIEH

(4) wicfieerzed

et ¥ W 3T gET B sidtied uieEn
SEEICECIELES

(1) ST 3P HATqReh SFaragfsh ufzrar
(2) SHETHM 3R I Uiyt

(3) SHTHM ST aTer SR AR
(4) SHTHH 3R Al SR TR

FO WE HBGAT H qGd Sd AT T HT FFH
forerdr grefl &2

(1) fe ok fesat o uffera warr st @mT
(2) FBAULH T HT i o6 G HIAL ST
(3) wredT g

(4) T e FHI STAT T=ATT

T RISl o feferiad Tom o g -

(a) BIHITATSH 3 319Tel 3 SHIL0T I€ TTEIA Bl 2
(ORETCACHERLR

(¢) STh! TEAT AT &9 & 9 Bl 2 S aaq
6000-8000 mm > T &l

(d) ST SfiaehTel ¥l BIAT © ST 120 T
BIaT 2

STUH | § I8 07 TS JaRIT T Lt
2

(1) 'a'and'd' ) ' and'c’ (1) 23y Q) bae
(3) 'b'and'd @) 'c'and'd 3) bad @) '¢a'd
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165.

166.

167.

168.

ALLEN

In Erythroblastis foetalis condition _A _ from
the mother can leak into the blood of the

foetus. This can be avoided by administering _

B to the mother immediately after the
delivery of the first child.
In the above paragraph A and B are :-

A B

(1) [ Rh-antigen Rh-antibody

(2) | Rh-antibody Rh-antigen
) Anti-Rh
(3) | Rh-antibody o
antibodies
(4) | Anti-Rh antibodies | Rh-antigen

If liver is removed which component in blood

will increase ?

(1) Ammonia (2) Protein

(3) Uric acid (4) Urea

Largest smooth muscle present in
(1) Leg

(2) Thigh

(3) Uterus of pregnant woman
(4) Urethra

Which of the following is/are not correctly
matched ?

(a) Ball and socket joint : Between humerus and
glenoid cavity of scapula.

(b) Pivot joint : Between carpal and meta carpal
(¢) Saddle joint : Between atlas and axis.

(d) Gliding joint : Between the carpals.

165.

166.

167.

168.

RTeeTiiey HIRIfcE STaeT H AT § A 90T
% Th H ST 2| 6 ST i o i) % wed
QA AQHATATH _B i T 1o kT ST Hehell
2l

ITUH SR A 9 B 8-

A B

(1) |Rh-antigen Rh-antibody

(2) | Rh-antibody Rh-antigen
. Anti-Rh
(3) | Rh-antibody o
antibodies
(4) | Anti-Rh antibodies | Rh-antigen

Ifq F%hd I T &A1 S A1 Th | i€l oeh
¢ ST

(1) ST (2) TEA

(3) A 7 (4) Ffe

el St feret (Smooth) U 9Tt STt @
(1) &H

(2) SEaH

(3) e foRd g T o TR |

(4) T

1 o @ e wet fram 7= 2 -

(a) geh TiceTshl WY : BACE ST Thqel
TAIES T % e

(b) g €Y : YA ST HETHIYA o sft=r

(c) 13T Gfer ; veaw T ufod & ot

(d) Toradt @Yy ; sprdeg & =

(1) bandc (2) aandd (1) b3 (2) a3id

(3) aonly (4) bonly (3) FaAa (4) FIAb
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169.

170.

171.

172.

173.

ALLEN

Functional connection between afferent and

efferent nerve fibres known as :-

(1) Synapse (2) Chiasma

(3) Nuclei (4) Nerve

In mammalian eye, the 'fovea' is the center of

the visual field, where :-

(1) The optic nerve leaves the eye
(2) Only rods are present
(3) More rods than cones are found.

(4) High density of cones occur, but has no
rods

Part of ear concerned with hearing is :-

(1) Reissner's membrane and tectorial membrane
(2) Basillar membrane and tectorial membrane
(3) Reissner's membrane and basillar membrane
(4) Ampulla

ACTH stimulates the synthesis and secretion of

hormones called........... from adrenal

cortex. Complete the above sentence by filling
appropriate blanks :-

(1) Protein, Sex corticoids

(2) Long peptides, Mineralocorticoids
(3) Short peptides, Mineralocorticoids
(4) Steroid, glucocorticoids

Due to malfunctioning of insulin hormone, what

effect would be on blood sugar and disease occur ?

(1) Hyperglycemia, Diabetes Mellitus
(2) Hypoglycemia, Diabetes Insipidus
(3) Hypoglycemia, Diabetes Mellitus

(4) Hyperglycemia, Diabetes Insipidus

169.

170.

171.

172,

173.

Hodt dPeRT i TR =T dfeR dq % Wed
ERIRERER TSI

(1) T (2) Terarsmn
(3) =TS (4) bR
Tt sht 3fie o Wi a8 e & 5 -

(1) ToheThT 97 ¥ STeX 3Tl &

(2) A ITATHTE IRAt STt &

(3) e o1 oI & SATET SAThTE qrft SITeft 2

(4) X% @O WA H 9R G & T ARG, AL
At STt

e T @ T 9 Zar @ Hea © -

(1) T foreet e aeifae fereett

(2) SR fereet wa e fareett

(3) frmd fereett e siftrer fereett

(4) T

UfSHIRTIERIIb® TN AT doFe W Hr
FAT ” I .. T &% HIEUT F G
T I et @ ™ Fed 7 |
ST Freh T AT 9 -

(1) JEH, a9 FHifhEed
(2) T UeTEed, fRdThiehEed
(3) B UTEeH, Hcihiichised
(4) VR3S, THHICHESH

TG B & Gae &9 § 1 1 F A o HRT
T SR I T STITE O & T BT 2

(1) EEucTsHifeaT, SEfodist derrged
(2) erurCTEEifET, TrEfads sHien
(3) TEUraTEE T, TRl Aeged
(4) TTEUATSHIEAT, STEfodier s g
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174.

175.

176.

177.

178.

ALLEN

Which is not a secondary messenger ?
(1) cAMP (2) 1P,
(3) Calcium (4) Sodium

In humans at the end of the second meiotic

division, the male germ cells differentiate into the:
(1) Spermatogonia

(2) Primary spermatocytes

(3) Secondary spermatocytes

(4) Spermatids

Which one of the following is true about
'Saheli' pills?

(1) It is made up of estrogen and progesteron
(2) Itis taken once a month

(3) Itis anon steroidal preparation

(4) Itis also called RU486

In GIFT technique:

(1) Sperms are transferred into the vagina of a

female

(2) A female gamete is transferred into the

fallopian tube of a female

(3) Gametes are transferred into the uterus of
a female

(4) Zygote upto 8-celled stage is transferred

into the fallopian tube of a female

Which of the following structure is analogous

to the lungs of human?

(1) Ears of elephant
(2) Flippers of whale
(3) Trachea of cockroach

(4) Wings of bat

174.

175.

176.

177.

178.

I ek fgcftereh Hegraree Tei & 2

(1) cAMP ) 1P,

(3) hfesrm (4) aifgan

e H, fidfe sEel favem & s oW oS
HifeRTd fore w0 o faafea & s &

(1) IThTITSTH

(2) ST TSHTUTERITRTRT
O RECIRERENCaINED]

"l el o S H hI-Er Hel 22

(1) 7S TEISI T Seiegia & st g8 2t &
(2) 38 HTE A U oI forar Srar @

(3) I8 TNisS Ued et 2

(4) 38 RU486 Wi Fed @

GIFT dehiieh :
(1) SERIOLSAT T TN HraT 61 A o foham
ST &

(2) G W1 7 T TR H1aT B S
Ffetent B forar StraT 2

(3) IWH HT TN WI&T o THIRET | TR
ST Rl

(4) 8-HITRTHI SFTEAT qeh o JIHAST hl T
HTeT sl AT Ffetert  foma ST 21

e # @ A @ AT 6 U %
A & ?

(1) gTeft & e

(2) = % Tq

(3) faerag it gafyewnd

(4) THEE & UG
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179.

180.

181.

182.

ALLEN

Cro-Magnon man, the closest ancestor of the

present day man appeared about :
(1) One million years ago

(2) 75,000 to 10,000 years ago
(3) 10,000 to 5,000 years ago
(4) 14,000 to 1400 years ago

Find the correct match of following column-I

with column-II.

Column-I Column-II

i |Down syndrome |a |21%trisomy

ii | Edward syndrome |b | 18™ trisomy

iii | Patau syndrome | c | 13" trisomy

iv | Cat-cry syndrome |d | 5" Chromosome

(1) i=b ii=c iii=d iv=a

(2) i=c ii=d iii=a iv=b

(3) i=a 1i=b iii=c iv=d

(4) i=d ii=c iii=b iv=a

Which is the most feared property of cancer ?
(1) Contact inhibition

(2) non-capsulated

(3) Metastasis

(4) inhibition of telomerase activity

The first letter of the name of Restriction

endonuclease came from the :

179.

180.

181.

182.

SRR WIE ST fo Al ot U AT gE
=1 I g T -

(1) e forferem o odf

(2) 75,000 & 10,000 % g5
(3) 10,000 & 5,000 ¥ I&f
(4) 14,000 & 1400 39 95

feafafgq wiam-1 9 Siam-11 1 g foaq
ELIES]

~ ~

-1 Hiew-11
i | fgm a |21"frgEar
i |ueas fagm b | 18" g
iii | 9eTS g ¢ | 13" e
iv | Fe-shTs farem d | 5% semEm
(1) i=b ii=c iii=d iv=a
) i=c ii=d iii=a iv=b
(3) i=a i=b iii=c iv=d
@) i=d ii=c iii=b iv=a
T2 378 T FoH ST O € 2
(1) T3t Heu
(2) T FgeIes
(3) Herefew

(4) feamms it foranfafer 1 vema
yfasyT USTeH & 19 § GEAT wse wIdl

K

(1) genus of organism (1) St asrahr

(2) Species of organism 2) Sfter o ST T

(3) Family of organism 3) Gﬂa%gﬂaﬂ

(4) Class of organism (4) Sftar o &t &1
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ALLEN
183.

183. Which of the following is used as a vector for
plant cells ?

(1) Biolistic

(2) Microinjection
(3) Retrovirus
(4) Ti Plasmid

184. Technique used in the production of flavr savr

tomato is :

(1) Mutational breeding
(2) Antisense technology
(3) Insertional inactivation
(4) Plant breeding

185. The milk of Roise cow contained human

specific protein known as :-
(1) Alpha lactalbumin

(2) Beta lactalbumin

(3) Insulin

(4) o-1-antitrypsin

SECTION - B )

This section will have 15 questions. Candidate
can choose to attempt any 10 question out of
these 15 questions. In case if candidate attempts

184.

185.

famr 8 9 forgert v Urew SHIfSreRT & HaEs o+
w9 T TohaT ST 22

(1) IrNfafres
(2) Gew e
(3) e

(4) Ti-wATHS

Foia Yot ZHEL T 3cdted o denier 9 fomam
RIp

(1) ScafEd-iT Jsm=
(2) ufaeref qehien
(3) s ffssheor
(4) QY YSHA

il maé\;gwﬁstrﬁ%mqa%ﬁm IR
? -

(1) HTH AFRTHHA
(2) sfier T
() g

(4) STEH-1-C e

-

A @IS 15 I 8 Wiameff 37 15 v 7 4 A
ot 10 w3 T Tehar B Ffe wemef 10 @ 1w wx
1 I 3T @ A B 62 U IO 10 79 & WA

~

qvs - B

more than 10 questions, first 10" attempted B
L questions will be considered for marking. )L )
186. The alimentary canal of frog is adapted 186. Tgw i STER ATA 31':@"%1?[ AR -

(1) Herbivorous nature (1) smepTEr ‘Slﬁcﬁﬁf & for
(2) Carnivorous nature (2) AiETER! Fehid & forr
(3) Omnivorous nature 3) Tatert ‘Sl'ccb‘ﬁf & for
(4) Sanguvivorous nature (4) whIET Eﬁch‘ﬁf & o
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ALLEN

187. Modified polysaccharides is present in :- 187.
(1) Matrix of connective tissue
(2) Cell of connective tissue
(3) Fibre of connective tissue
(4) Enzyme of connective tissue
188. Match the following :- 188.
Vinblastin, )
1)) . (A) | Terpenoides
curcumin
(Il) | Abrin, Ricin (B) | Lectins
Monoterpenes,
| . (C) | Drugs
Diterpenes
(IV) | Concanavalin-A | (D) | Toxins

(1) I-C, 1I-D, IlI-A, IV-B
(2) 1I-A, III-D, IV-C, II-B
(3) I-B, lII-A, 1I-C, IV-D

(4) I-A,1I-B, III-C, IV-D

189. Which of the following is not a pyrimidine N- 189.

base ?

(1) Thymine
(2) Cytosine
(3) Guanine
(4) Uracil

190. Chylomicrons are :-

(1) Fat droplets coated with phospholipids.

(2) Undigested proteins
(3) Undigested carbohydrates.

(4) Fat droplets coated with protein

190.

BTN T3S SURYA BT © -
(1) TS ek T 3memht &

(2) TS Scieh T HITSTRT

(3) WA Sk o aq H

(4) AT ek o USTEH

Tt bt gafera <o -

M W'o R (A) | eTaTEEE

(D) | usit, (B) | o=

) ’ ©) |s™
g

(IV) | HiAFAEAA-A (D) | Tl

(1) I-C, II-D, III-A, IV-B
) II-A, II-D, IV-C, II-B
(3) I-B, IlI-A, 1I-C, IV-D
(4) I-A, II-B, I1I-C, IV-D

HIA AIATT emiw Ut &
g 2

ORI

(2) WM

(3) ==

(4) Tt

FHISCAHTEShI BId & -

(1) HIEHITATIE ST Ih T hl <
(2) gt T

(3) @ FeTeEged

(4) TS TR Ieh T hT sl
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191.

192.

193.

194.

ALLEN

What will be the Po, and P o, in the atmospheric
air compared to those in the alveolar air ?

(1) Po, lesser,Pco, higher
(2) Po, higher, Pco, lesser
(3) Po, higher, Pco, higher
(4) Po, lesser, Pco, lesser

Below normal heart beat is called :-

(1) Bradycardia (2) Tachycardia
(3) Hyperpiesis (4) All of these
Release of renin from juxta glomerular cells
plays an important role in :

(1) Increasing absorption of sugars and

sodium ions
(2) Vasodilation of blood vessels
(3) Increasing the glomerular blood pressure
(4) Decreasing the glomerular blood pressure

Identify the following diagram and give correct

answer for A point :-

(1) It is thyroid gland. It's hormone deficiency
related with defective development of

191.

192.

193.

194.

FUHRT 1Y h JOAT H AIHUSHA 9g H Po,
TAT P o, T HH S 2

(1) Po, ®H,Pco, 3==

(2) Po, 3=3, Pco, A

3) Po2 3, Pco2 Jed

(4) Po, A, Pco, A

ST T sl 71T T G § ¥ BIFT haedTdl & -
(1) st (2) HrepTrean

(3) T (4) 3k @t

TesE HIREEA 8 W 1w frad

TECEU] V{HART AT AT & ?

(1) IR TR AfSTT AT o TN § Jig
F |

(2) FR Tfeehtsti & arfe-t foearor o

(3) HIRTHT=OIA Bl I TG H

(4) HIRTHTT=SIT ST I FH HA H

et ot =l gty 9 A foig % foe @t s
&g -

(1) I 9Tgise UMY 2| g8k | it &l o
mviaedr & g, 7§ foefid 8 © ares

. . 1 g forshet 2 STt 21
growing baby during pregnancy .
» Itis adronal N led (2) TE TG HGTT & 36 BIHIA I hoohIAHIET
(2) Itisa ena. medulla. It's hormones are calle ST A TR o w3
catecholamines or hormones of emergency
: : . (3) I TS UM B S ARy foafie
(3) It is parathyroid gland related to maintenance <
. . R H Ca*™ ol e st 2
of Ca™ in blood by bone resorption
. . (4) T ursag ufr & s ferrprarsem ft fomam
(4) Itis thymus gland related to immune development . I\
of body through activity of lymphocytes ST ST 67 o o o Jestf-oe 2
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195.

196.

197.

198.

ALLEN

Cleavage gets slow and stop in which stage ?
(1) Blastula

(2) Morula

(3) Gastrula

(4) Neurula

How many of the following hormones are
released by human placenta ?

Estrogen, Progesterone, FSH, LH, Relaxin,
CRH, Oxytocin, Prolactin, HCG, HPL, GnRH
() 4

2) 5

3) 6

@ 7

According to Darwin, variations are:-

(1) Small and directionless

(2) Large and directionless

(3) Small and directional

(4) Large and directional

Read the following statements :-

(A) Our immune system maintains our health
(B) Health is effected by mind and mentalstate
(C) Good earning and cooperative interactions
are included in social health

(D) Nervous, endocrine system coordination is
influenced by mind.

(E) Yoga is improving our physical and mental
health since ancient times.

195.

196.

197.

198.

HITHT 1T H forget efiaT gt e 81 SITaT 87
(1) SATEeT

(2) =

(3) Treger

(4) &

7 & ¥ fora S WHa ST90 g/ Bfaa foRd
ST 7 2

TEISH, WeiegH, FSH, LH, feifedd, CRH,
ieRfteIfem, WAfeed, HCG, HPL, GnRH

(1) 4

2) 5

3) 6

4) 7

1fel o atem, fafirmand 2 -

(1) g T fezmee

(2) 9es qun faemd=

(3) <9 qu fesmensh

(4) g&< qu faxrensh

=1 Femt A ufed ;-

(A) THRT ITRET a1 gUTH HEd ol ST T&T 2
(B) TTEL Hikdsh o AR STET T fAefT shtar
H

(C) =31 FA3 I TeAl BRI AT
TTEey 1 wfterd Rl

(D) dfer 9 Fa:- &t dF H oue afidss o
FuTferd BT Rl

(B) a0 9T=f et & gart Sk o arafies ded

How many of these sentences are correct aﬁﬁW@T%l
IURE H ¥ TR e 9 2
(D 1 () 2 (3) 4 4 5 (D 1 () 2 (3) 4 4 5
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199.

200.

ALLEN

The incubation period of COVID-19 is :-

(1) 2-14 days (2) 30-60 days

(3) 84 days (4) 90 days

Which of the following test is done for corona
detection by use of nasal sample taken as

shown in the given image ?

(1) ELISA Test
(2) RT-PCR Test
(3) Schik Test

(4) DNA fingerprinting Test

199.

200.

COVID-19 & SEITHA & :-
(1) 2-14 = (2) 30-60 fe=
(3) 84fe 4) 90

qRITE 7Y forr § ATfEehT & T T TN HIRUAT HY
BT o [T 1 1§ § e o foram ST & 2

(1) ELISA Test
(2) RT-PCR Test
(3) Schik Test

(4) DNA fingerprinting Test
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